


Algebra 1 Module 0.6 Name:

Adding and Subtracting Radicals NOTES

You can onl tyou can ONLY combine like RADICANDS
(inside te;

).
L Ka
1. If the radicdndsare alike, you add or subtract the outside terms and keep the rad icand

(inside) term the same.

2. If the radicands are not alike, you must FIRST try'to sunphfythm to see if they will
become alike.

3. ALWAY Smake sure the radicand is simplified in the end.
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15) Justin and Rebecca worked together to solve ;/E + 2\/}@. Their answer was 5v5. Are they correct? If not; explain and correct their mistake below.
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The length of a rectans]€is 76, The The perimeter of a rectangle i
e erim et The widthiz 3+ 3 Find the le of the

rectangle. 3@
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Find the the rectangle.

wv—— radicands = ra 1
COETHICIENTS & COETHICIENTS 18. 10.
L ‘O 1 r /U"" —_ The length of a rectangle is 38, The The perimeter of a rectangleis 10V12.
L/ 12/ o 42 E smeter of the The widthis 4+/3. Find the lengfh of the
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Find the rectangk. = +24
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